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1. Multiple Choice Questions - 80 Questions
Section 1 : Multiple Choice Questions - 80 Questions

1 The correct statement about proton is

WP IR T I HYT

O It is a nucleus of deuterium3g Sﬂﬁﬁ?ﬂ[ HUh ClRED %

O It is an ionized hydrogen atom3g Tdh M BTET@W URHAT] g

O It is an ionized hydrogen moleculesdg Tdh AT 6|$§;|G|:| S{UJ g

O More than one of the aboveSURIad & I Uh T 31fH

O None of the aboveITRIGd T J Ob\lsr :I_ng

Correct: +1

2 Which of the following electron transitions in a hydrogen atom will require the largest amount of energy?

a@mmﬁmﬁﬁm@ﬁw%mw 3 AR & FHuif PI AT DdT
?

O n=1ton=2
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O n=2ton=3

O n=wton=1

O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveSWRIGd H I Gb\lsé‘~ el

Correct: +1

3 Which one of the following sets of quantum numbers represents the highest energy level in an atom?

HicH Geamell &1 Fufefad § ¥ S 91 Y U6 WA ¥ Swad Sl WR &1 UiaHid Hdl 8

O n=4]1=0m=0,s=+1/2

O n=31l=1m=1s=+1/2

O n=31=2m=-2s=+1/2

O More than one of the aboveJWRIGd H I Udh T 3iferH

O None of the aboveIWRIGd H I d;lig :Iébf

Correct: +1

4 In the ground state of the H-atom, the electron is :

H-TRHTY] 31 g9 TR H ,SAde &

O In the second shellﬁ Gl p

O Inthe nucleus:l'lﬁ-ﬁ ﬁ

TEST - 01 (COMPLETE INORGANIC TEST ) - Multiple Choice Questions - Questions Page 2 of 52



O Nearest to the nucleusTH® b oI EMEYD

O More than one of the aboveJWRIGd H I Udh T 3ffeH

O None of the abovedui\lck'l i ﬁ Ob\l’-:: qﬁ[

Correct: +1

5 Modern periodic table is based on the atomic number of the elements. The experiment which proved the
significance of the atomic number was

m@%wﬁaﬁ%mmﬁwm%laﬁmmmmﬁmm
Gy

O Mullikan’s oil drop experimenﬂg%iﬁ CAIGK| ETVC[ T

O Moseley’s work on X — ray spectraQ?:R:[—i' @EE\T TR AN BT H1H
O Bragg’s work on X — ray diffraction@ag-Y faad R §T &1 B
O More than one of the aboveSWRIad & I Udh T 3ffem

O None of the aboveJURIFT o ﬁ aﬁ's‘ :I_E?[

Correct: +1

6 As per the modern periodic law, the physical and chemical properties of elements are periodic functions of
their

YA 3HTad faH & 3R, Il & Hfde e IMAHS 07 3% 3ATad B &

O Atomic volumeURHT] T
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O Electronic configurationgaidgi-1dh fa=ary

O Atomic weightUIHTI] HRR

O More than one of the aboveIURIGd H I Udh 3 3fw

O None of the aboveG'QﬂTﬁ ek ?ﬁ—?f :fgjf

Correct: +1

7 The correct order of increasing radii of the ions Br , F 02 and 2™ is as follows

3 Br, F, 02~ 3R 82~ & Fgdl Asarsii &1 9dl A ST ISR &

O Br <F <0% <8%°

O §$2<0% <F <Br_

O F <0% <S$* <Br

(O More than one of the aboveG'qﬁER—[ f[ ﬁ Th @ 3fIH

O None of the aboveIWRIGd T J cb\lé T-I_GQ[
Correct: +1

8 The atom having the valence shell electronic configuration 452, 4p2 would be in

TRHATY T HIol DI Seiagii-e fa=ard 452, 4p2 BT

O Group 2 or II A and periodic 3a% 2 TT 11 A 3R 3(1ad 3
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O Group 12 or II B and periodic 437 12 AT 11 B 3fR 31ad 4

O Group 14 or IV A and periodic 43 14 AT IV A 3R 3fTad 4

O More than one of the aboveSWRIad & I Udh 3 3w

O None of the aboveIURIGd § I Gb-\l‘iir :|_6Qf
Correct: +1

9 In a period from Li to F, ionization potential

Li ¥ F &I 31ad H, g faua

O IncreasesSgdl g

O Decreasesdcdl %

O Remains same¥HA Igdl %

O More than one of the aboveJURIad & T T Y 3HfH

O None of the aboveIURIad H I ?ﬁ'&; :Iﬁ
Correct: +1

10 The first ionization energy of oxygen is less than that of nitrogen. Which of the following is the correct
reason for this observation

HTRIS Pt UYH T Hoil AIge o Bt ga-T § HH gl 8 | Fufifad o 9 &1 91 59 Sadie &1 98 $RU§

O Lesser effective nuclear charge of oxygen than nitrogendTSgIo &1 ga- B SHIGIS BT B YU 1D AR
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O Lesser atomic size of oxygen than nitrogen-TgcIoid &t Ja1 T TeRiTor &l HH AMND DR

Greater inter-electron repulsion between two electrons in T &1 p H&ich H &l 3cidciHl & sl D 3HcR-
O the same p orbital counter balances the increase in effective ET%E'H ufdey :HQE;IGH T Ao Bt 3R o
nuclear charge on moving from nitrogen to oxygen TR JHTdT TS GﬂaQT o | Cal Tferd Har g

O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveIWRIGd H I cb\li‘i~ v_'lglf
Correct: +1

11 Among the following, the third ionization energy is highest for

g 3 9 Het e o gad e &

O MagnesiumTHREAT

O BorondRM

O BerylliumaRferag

O More than one of the aboveSURIad & I U T 31fH

O None of the aboveITRIad & J Ob\l‘ir '_‘|€f

Correct: +1

12 The amount of energy which is released due to addition of extra electron to the outermost orbit of gaseous
atom is called

g A Bt T a8 Han  ifaRed saaer Joa @ e arch Sl &) 751 deamd 3

O Electron capacity Scidei- &l
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O Electron affinitySadgi- ¢l

O Tonization potential STA=IHRUT &

O More than one of the aboveSWRIad & I Udh 3 3w

O None of the aboveITRIGd & J Gb\l‘ir :|_6Qf

Correct: +1

13 The type of hybrid orbitals used by the chlorine atom in C1O, is

C10,” H TR URHIY] gRT STANT fHT T Tt HhR Hafd] BT TbR §

O More than one of the aboveSURIad & I Uh T 3MfH

O None of the aboveIURIGd § I dp\lsr :I_ng
Correct: +1

14 The correct order of increasing C—O bond length of CO, CO32_, CO, is

CO, CO52™, CO, B C-0 §Y TTS d™ T gl v §

O €032 <C0O,<CO
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O C0O,<CO05* <CO

O CO,<C05* <CO,

O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveJURIGd T J Ob\li‘; 7%)[

Correct: +1
15 Molecular shape of SF4, CF4 and XeF,4 are
SF,, CF, BT VA HTHR 3R XeF, 3
The same, with 2, 0 and 1 lone pair of electrons FHI, HHRT: 2, 0 3R 1 sﬁag‘l’:h o w?n%
respectively qry
The same, with 1, 1 and 1 lone pair of electrons A, pHRT: 1, 1 3R 1 ﬁﬁﬁﬁWﬂ‘q%
respectively iy

O Different with 1, 0 and 2 lone pair of electrons respectively[®s, U 1, 0 3R 2 ATl P THTD! gy & Y

O More than one of the above3URIad H I Th T 3iferH

O None of the aboveITRIGd & J Ob\lsc :|_6Qf

Correct: +1

16 According to MO theory

Mo RIgid & SrgaR
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@) 02+ is paramagnetic and bond order greater then 0202+ TP g JUT Y HH 0O, EEEI

O 0O, is paramagnetic and bond order less then 0,0, STITHT § TUT §Y HH O, T BIeT §

O 0," is diamagnetic and bond order less than 0,0, " Ufdda®IT § TUT §Y HH O, T BleT §

O More than one of the aboveB'QiTG?—[ pu sy dUh I 3

O None of the aboveIURIGd & I ?53['5; :lﬁ

Correct: +1

17 The species having bond order different from that in CO is

co 3 fia 9 A arelt uefa 8

O NO*

O CN

O More than one of the above3URIad § I Th T 3iferH

O None of the aboveIWRIGd & J Ob\lsc :|_6Qf

Correct: +1

18 Boiling point is highest for :
HYFIP Fad 3 fhad R dare:
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O NH;

O PHy

O More than one of the aboveIRIGd & Th g 3

O None of the above3 Ll{\lok-l f[ ﬁ cr?lg :Iébf

Correct: +1

19 The types of bonds present in CuSO,4.5H,0 are only :
CuS0,.5H,0 ¥ IURYT §¢ & UHR $ad g

O Electrovalent and covalentfaggaaist 3R Tgarsh

O Electrovalent and coordinatefdggadarst 3R IU-HgHdeIdh

O Electrovalent, covalent and coordinate faggawdreil, Gggarel 3R SU-Hgudeid

O More than one of the aboveSWRIad & I Th T 3w

O None of the aboveITRIGd & J Ob\lg :|_6Qf

Correct: +1

20 Positive dipole moment is present in :

TS f3Ya MUl Pl SURYT Bl o

TEST - 01 (COMPLETE INORGANIC TEST ) - Multiple Choice Questions - Questions Page 10 of 52



O CCly

O More than one of the aboveIWRIGd H I Udh T 3w

O None of the aboveSTRIGd T I aﬁé :Ia

Correct: +1

21 Amongst LiCl, RbCl, BeCl, and MgCl, the compounds with the greatest and the least ionic character,
respectively are :

LiCl, RbC], BeCl, 3R MgCl, T ¥ Tad e SR Yo HH HGfeb 0 a1d AR HH: 5

O LiCl and RbCl

O RbCl and BeCl,

O RbCl and MgCl,

O More than one of the aboveIWRIGd H I Uh T 3ifem

O None of the abovedui\lck'l i ﬁ Ob\l’-:: qﬁ[

Correct: +1

22 Select the correct statement :

Tl HYF BT T9 Y
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O Lithium carbonate is soluble in waterfdIgH FHaHe gt & gasia §

O Potassium carbonate is soluble in waterdieRIIH HraHe U=t & ‘Q?Fﬁﬂ?f g

O Barium carbonate is soluble in water SRIH HIa-c U=t & Y eTRIT %

O More than one of the aboveIURIGd H I Udh 3 3fw

O None of the aboveSWRIFd T J ?ﬁé :I—bp[

Correct: +1

23 The solution of alkali metals in liquid ammonia is blue coloured due to :

R T A &R Tt o1 O =fia 31 &1 gl B

O Metal ions IGECINE]

O Ammoniated electronsgmifidee Taiaei

O Ammonia 3T

O More than one of the aboveSURIad & I Tdh T 3w

O None of the aboveITRIGd T J Ob\l'{: 7'|_5°f

Correct: +1

24 Which salt on heating does not given brown coloured gas :

B T G TH P TR X I B 19 T e g2
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O LiNO;

O KNO3

O Pb(NO3),

O More than one of the aboveB‘Clﬂ?R-[ pu o) Th T 3

O None of the aboveIURIGd A I ?53['5; :lﬁ
Correct: +1

25 Tin dissolves in excess of sodium hydroxide solution to form :

fea1 Qifsaw T sauss famem @t siftiwdar & gaH: §-1d1 &

O Sn(OH),

O Sl’l(OH)4\

O Na28n03

O More than one of the aboveIWRIad § I Th T 3

O None of the aboveSWRIGd H I Gb\lsé‘~ el

Correct: +1

26 Which of the following gives red flame :

9 & Q S 91 A1l sarel a1 8

TEST - 01 (COMPLETE INORGANIC TEST ) - Multiple Choice Questions - Questions Page 13 of 52



O Ca

O Li

O More than one of the aboveIWRIGd H I Udh T 3ffeH

O None of the aboveJURIGd T J aﬁ's‘ :I_E?[

Correct: +1

27 Microcosmic salt bead is used in the detection of :

HISHIBI D AU H-IhT BT IUTNT fTehT Uar e # fbar idr 3

O 7Zno

O AlLO;3

O Si0,

O More than one of the aboveSWRIad & I Udh T 3w

O None of the aboveITRIGd & J Gb\l‘ir :|_6Qf

Correct: +1

28 The products of the electrolysis of concentrated common salt solution are :

I FIYR 701 g F egd-emeed & Iarg &
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O Na + C12

O Hy+0,

O NaOH + H, + Cl,

O More than one of the aboveIWRIad § I Udh T 3iferH

O None of the aboveJURIGd & J cr?l'-:f :I_GQF

Correct: +1

29 A combustible gas is liberated when caustic soda solution is heated with :

e PR TSt faags &Y T 3 e 8 d T ge-ia 1 gad gl &

O's

O Zn

O NH4CI

O More than one of the aboveIWRIGd H I Th T 3MfH

O None of the aboveITRIGd T J Gb\lsr 7‘|€[

Correct: +1

30 Stannous chloride reacts with excess of sodium hydroxide solution to form :

W FRISS FIiSaH gesiauss faeaH &t siftiewmar & ary Sififshar e sl 3
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O NaZSnO3

O Sn(OH),

O NaZSnOZ

O More than one of the aboveIWRIdGd & I Udh T 3ifdp

O None of the aboveIURIad H I aﬁé '_'Ia

Correct: +1

31 The principal products obtained on heating iodine with concentrated caustic soda solution are :

iz Pifes GreT AT & Y SEISH & TH &1 TR U 81 a1d e 391G &

O NaOI + Nal

O NalO3 + Nal

O NaOI + NalO5 + Nal

O More than one of the aboveIURIdd & I Udh T 3MfH

O None of the aboveIWRIGd H I cb\lsc :|_5°[

Correct: +1

32 The electrolytic reduction method for the extraction of aluminium was discovered by :

TfiEn & o & R fagga smaesht sioeae fify 3t @i fram ot ot
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O Hoop gu

O Hall and Heroultgld 3R gllee

O Bayer R

O More than one of the aboveJWRIGd H I Udh T 3ffeH

O None of the aboveJURIGd T J aﬁ's‘ :I_E?[

Correct: +1

33 Aluminium reacts with sodium hydroxide solution to form :

T SifSaH grRSiauss Uid & Iy SifHal Hd Sl &:

O AI(OH);

O AlLOs

O N32A102

O More than one of the aboveIURIGd & I Uh T 3ifdrp

O None of the aboveIWRIGd A J cb\lsr :|_5°[

Correct: +1

34 Which one of the following is alum?
Fofifed & @ o1 a1 fhead 77
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O NH4F€(SO4)2. 12H20

O (NH4)2SO4F€SO46H20

O More than one of the aboveB'ClﬂT:H f[ ﬁ Th ﬁ 3fIH

O None of the aboveIURIGd H I cb\lsr :I_GQ[

Correct: +1

35 Aluminium is not attacked by nitric acid because :

TR R e 3R &1 yHTE e uSdr § wife:

O Itis a noble metaldg Uh IPHY UTd g

O Its reduction potential is highly negativesgeT =T faHa afis FomH® &

O A thin oxide layer is formed on its surface 39®! Tdg TR T Udall HTISS Ud St E

O More than one of the aboveIURIGd & I Uh T 3ifdrp

O None of the aboveIWRIGd A J cb\lsr :|_5°[

Correct: +1

36 The formula of borax is :
CRERE IR
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O NayB40O7

O Na2B4O7. 1 OHzo

O Na2B4O7.7H20

O More than one of the aboveB'ClﬂT:H f[ ﬁ Th ﬁ 3fIH

O None of the aboveIURIGd H I cb\lsr :I_GQ[

Correct: +1

37 Borax on heating with cobalt oxide forms a bead of :

REH Palee ATFES b 1Y TH B R 1 991 8

O Co(BOy),

O CoBO4

O Co3(BO3),

O More than one of the aboveSWRIad & I Udh T 3w

O None of the aboveITRIGd T J Ob\l'{: 7'|_5°f

Correct: +1

38 The relative strengths of the boron halides as Lewis acids are in the order :

T9 A & U H IR gass! &1 Wfdes ioeg SH HH A §:
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O BBI‘3 > BC13 > BF3

O BF3 > BC13 > BBI‘3

O BC13 > BBI’3 > BF3

O More than one of the aboveB'ClﬂT:H f[ ﬁ Th ﬁ 3fIH

O None of the aboveIURIGd H I cb\lsr :I_GQ[

Correct: +1

39 Electrolytic reduction of alumina to aluminium by Hall-Heroult process is carried out :

TId-gRIee Ufhal gRT TegfiHT &1 Tegfiifam § fagya srues sra=a f3ar oI 7

O In the presence of NaCINaCl & Jufyfd #

O In the presence of fluoriteUdRIge Pt JufRfa &

In the presence of cryolite which forms a melt with lower FIAEe df SURRITA T S & Ta-ie drel
melting temperature e §1aT ©

O More than one of the aboveIRIGd & ) g 3

O None of the aboveIWRIGd H I Gb\l’-:: :%)f

Correct: +1

40 The stability of +1 oxidation state increases in the sequence

+1 SR SraeyT B FRRaT B v & dedl &
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O Ga<ln<Al<TI

O Al<Ga<In<TI

O Tl<In<Ga<Al

O More than one of the aboveSWRIad & I Uh T 31fdH

O None of the aboveITRIGd T J Ob\lsr :I_ng

Correct: +1

41 Property of catenation is strongest in :

G BT T[0T JaY e fora® g &:

O More than one of the aboveSURIad & I Tdh T 3w

O None of the aboveITRIGd T J Ob\l'{: 7'|_5°f

Correct: +1

42 Graphite is conductor but diamond is non-conductor because :

YpT3e ATeD & AfhT SIRT SIS § FIfP:

ERIHSR BT 2 3R ABISC RAGKA &

O Diamond is hard and graphite is soft
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YwIEe 3R TR BT URATY] fa= SeT-31e BT §

O Graphite and diamond have different atomic configuration

Graphite has hexagonal layer structure with mobile YBIEC | HIESd T-JadeHI & 1Y NCHIUN TR ST
O m—electrons while diamond has continuous tetrahedral gcil § STafdh 81X H AR IohaH g Hﬁtﬁ\—r@ TR

covalent structure with no free electrons gt %‘ forad ﬁ'sc Hod E@I?Cfﬂ EREGI %

O More than one of the aboveJWRIGd H I Udh T 3ffeH

O None of the aboveJURIGd O J ﬁ—if :f?)[

Correct: +1

43 The main constituents of water gas are

oI 79 & BT 9 o

O CO +H,0

O CO,+N,

O CO+H,

O More than one of the abovemaﬂ pu o) Th T 3ffIH

O None of the aboveIWRIGd H I dp\lé 7‘|€[

Correct: +1
44 Among the following substituted silences the one which will give rise to cross linked silicone polymer on
hydrolysis is :
frafifed ufoeufia gy # @ 98 o 5id s/qHed W H1Y s Rt Tgae &I o ¢ 38 &:

O R4S
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O RSiCl

O R,SiCl,

O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveJURIGd T J Ob\lsc 7%)[

Correct: +1

45 The salt which on heating gives a mixture of two gases is :

9g TGUT o 7T P R &) A T fgor S e

O NaNOj

O KNO3

O Pb(NO3),

O More than one of the aboveG"Crﬁ?R-[ pu o) Th T 3fIH

O None of the aboveITRIGd H I aﬁ's‘ :lﬁ

Correct: +1

46 The catalyst used in the manufacture of ammonia by Haber process is :

TR Ufhan gRT M & Fafor § uged Sake &

O Pt
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O V,05

O Fe

O More than one of the aboveIWRIGd H I Udh T 3w

O None of the aboveITRIGd T J Gb\lsr 7'@3[

Correct: +1

47 Which chromium compound is widely used in tanning of leather?

DI T I 9P THS ot T H urues wu Q IugiT faar ST 82

O CI'203

O Cro,Cl,

O KzSO4.CI‘2(SO4)3.24H20

O More than one of the aboveG'ClﬁT:E[ f[ ﬁ Th ﬁ 3fIH

O None of the aboveIWRIGd T J cb\lfqf :I_GQ[

Correct: +1

48 Purple of cassius is

HRTY BT I T T

O Copper solution PIR fqaa
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O Platinum solution @fe-H faea

O Gold solution e faea

O More than one of the aboveSWRIad & I Udh 3 3w

O None of the aboveITRIGd & J Gb\l‘ir :|_6Qf

Correct: +1

49 Least paramagnetic property is shown by
o BH AIIFE 19 0T g GRT ST ST @

O Fe

O Cu

O More than one of the aboveJURIGd H I Udh T 3iferH

O None of the aboveSIWRIGd H I d;lig :Iébf

Correct: +1

50 Thermite is a mixture of iron oxide and:

YIfEe (3R SHaaISS) BT 90T § 3HKR:
O Zn powder Zn o1
O Na—-Hg
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O Al powderAl TI3SR

O More than one of the aboveJIWRIGd H I Udh T 3ffeH

O None of the aboveIWRIFT H I Ob\l’-:: qﬁ[
Correct: +1

51 Which of the following group of transition metals is called coinage metals?
Goraur yrgelt & Fafeed # 9 frg 93 & R Urg wa1 S |2

O Cu, Ag, Au

O Ru, Rh, Pd

O Fe, CO, Ni

O More than one of the aboveSWRIGd H I Udh T 3w

O None of the aboveIURIad H I aﬂé :|—5°f
Correct: +1

52 Which one of the following does not correctly represent the correct order of the property indicated against it?

Frafifad & ¥ S1H-31 e 9% IMA SITS TS JuRy & ) A &1 ) <71 4 ufafifia 78 s g2

O Ti<V <Cr<Mn: increasing number of oxidation/ 3IFIIHUT SARIT Pt TGl G

O Tidt <v3T <3 < M3 increasing magnetic moment/ §Gd GBI &1
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O Ti<V<Cr<Mn: increasing melting points/ §Gd TeidH

O More than one of the aboveIURIGd H I Udh 3w

O None of the aboveSWRIFT H I aﬁé el
Correct: +1

53 Match the catalyst to the correct process
Catalyst Process

A) TiCly (i) Wacker process

B) PdCl, (ii) Ziegler — matte polymerization
C) CuCl, (iii) Contact process

D) V,054 (iv) Deacon’s process

Choose the correct option -

AR BT Tl Ulsha1 A e Y
JoR®D wfshar
A)TiCl, (i) 9BR Ufsbar
B)PdCl, (i) FoReR - #e UieimRIgoRH
C)CuCl, (iii) Gud Hfchd
D) V,05 (iv) SHIF B Ufchar
gl fapey g -

O A-i,B-1,C—iv,D—1iii
O A-iii, B-1,C—ii,D-1iv

O A-i,B-i,C—-iv,D -1
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O More than one of the aboveJWRIGd H I Udh T 3ifeH

O None of the abovedui\lck'l i ﬁ Ob\l’-:: qﬁ[

54 Among the following series of transition metal ions, the one where all metal ions have electronic

configuration is:

GpHT YT 31T ) Pl g #, wigi g urg oAl & soeeie R &

O Ti3%, v&, ', Mn*t

O Tit, v*, cro", Mn’"

O Ti2+’ V3+, CI‘4+, Mn5+

O More than one of the aboveIWRIad § I Udh T 3iferm

Y (el

O None of the above3URIad H I Oblsc ol

55 Blue colour/precipitate will be obtained when K4[Fe(CN)g] reacts with:

S K 4[Fe(CN)] 301 &al 8 oY =Hial /3@y e gim:

O Fe(Il) ions Fe(II) Mg+

O Cu(1l) ionsCu(lIl) Mg+

O Fe(ll) ions  Fe(IIl) 3maqd
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O More than one of the aboveJWRIGd H I Udh T 3ifeH

O None of the aboveIURIFT H I Ob\l’-:: qﬁ[
Correct: +1

56 A magnetic moment of 1.73 BM will be shown by one among the following

9 & § fru wixiie &1 et emuf 1.73 BM 8 2

O [TiCly)*~

O [CoClgl*

O [Cu(NH;3),*

O More than one of the aboveIURIdd & I Udh T 3ifds

O None of the aboveIWRIGd T I cb\|<qf 7-|_{~?[
Correct: +1

57 Which of the following complex is used as an anticancer agent?

9 & A 5y Ipd &1 STET F=R & $UH I 82

O Mer—[Co(NHj3),]

O CiS—[PtClz(NH3)2]

O CiS—Kz [Ptc12Br2]

TEST - 01 (COMPLETE INORGANIC TEST ) - Multiple Choice Questions - Questions Page 29 of 52



O More than one of the aboveJWRIGd H I Udh T 3ifeH

O None of the abovedui\lck'l i ﬁ Ob\l’-:: qﬁ[

Correct: +1
58 Which one of the following does not exhibit paramagnetic character?
o & PH TP q&0 Y Heiid TS HRa1 @ ?
(At.No.Ti = 22,Fe = 26;Cr=24:Cu=29)
O [Ti(H,0)]"
O [Fe(NHz)g]™"
O [Co(NH3)¢]**
O More than one of the aboveIURIGd & I Udh T 3w
O None of the aboveIURIad & T BIS el
Correct: +1

59 The name of complex ion, [Fe(CN)6]3_ is :—

TP 3 [Fe(CN)g]>~ BT T € :-

O Hexacyanitoferrate(IIl)ion

O Tricyanoferrate(Ill)ion

O Hexacyanidoferrate(Ill)ion
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O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveIURIGd § I Gb\lsé‘~ 7%)[
Correct: +1

60 Jahn — Teller effect is not observed in high spin complex of :
o & @ frae I S0 Ygpa! § SifT- 3R yHIT TE 82

O ¢

O g4

O ¢

O More than one of the aboveIURIdGd & I Udh T 3ifdrp

O None of the aboveIURIGd & I dp\l‘-:: :lﬁjf
Correct: +1

61 Correct order of the stoichiometries of AgCl formed When AgNOj5 in excess is treated with the complexes :
CoCl3.6NH;3, CoCl;.5NH3, CoCl;.4NHj respectively is :
HHal CoCls.6NH;, CoCls.5NH;, CoCls 4NH; B ST & AgNO,; & T fobal avam R Kisframe!
AgCl § PT T8I HH U | :

O 1AgCl, 3AgCl, 2AgCl

O 3AgCl, 1AgCl, 2AgCl
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O 3AgCl, 2AgCl, 1AgClI

O More than one of the aboveIWRIGd H I Udh T 3w

O None of the aboveITRIGd T J Gb\lsr 7'@3[

Correct: +1

62 [Co(NH3)5SO4]Br and [Co(NH;3)Br]SOy4 are

[Co(NH3)sSO,]Br 3R [Co(NH3)Br]SO, &

O Linkage isomers INCISRSEICRCR])

O Coordination isomersqH-dY JHAIIT

O Ionization isomers T JHTTIAdT

O More than one of the aboveSWRIGd H I Uh q 3w

O None of the aboveorl-R\IdrI i ﬁ Ob\lsc :félf

Correct: +1

63 Which complex posses facial isomer?

g e & BRI garaad) g &2

O K[Fe(NH3),(CN)4]

O [Co(NH3);(NOy)3]
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O [Co(NH3)4(CO),ICl

O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveSWRIGd H I Gb\lsé‘~ el

Correct: +1
64 According to Werner’ Theory the geometry of the complex is determined by
TR Rigid & 3UR Ypa $ Saitfa frud gr1 Auiia aid &2
O Only from the primary valence in space bac AR =g 9 T Faed §
O Number and position of the primary valences in space ifal H Tt HaIoiw! B He S fRufa
O Number and position of the secondary valence W %*a?n =T G?IT _ufa
O More than one of the aboveSWRIad & I '2) T 3fIH
O None of the aboveITRIGd & I or?lé 7‘|€f
Correct: +1

65 The effective atomic atomic number of Iron (Z = 26) in [Fe(CN)6]_3 is

[Fe(CN)] > # TR B UHIS TRAT] G=HT (Z = 26)

O 36

O 33
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O 35

O More than one of the aboveIWRIGd H I Udh T 3w

O None of the aboveITRIGd T J Gb\lsr 7'@3[

Correct: +1

66 According to crystal field theory, when legends approach the metal atom or ion in an octahedral field, the d
orbital that undergo increase in energy are

fopeee &= Rigia & SrguR, od RfIvS T sptrerenty & H 4Tq URHIY] AT 315 & UI¥ Ugad 8, ol ol A gl @
ToRA dTell d- &g il §

O dyy. d,?

O d,,,d?

yz> Yz

O More than one of the aboveB'CRﬁTﬂ f[ ﬁ Th @ 3fIH

O None of the aboveIURIGd H I cb\lsr :I_GQ[

Correct: +1

67 Gold is extracted using :
G &1 ] 39 ToHR fhar Srar g :

O Amalgamation process3fHATH Uil

O Carbon reducing process®Ta- Ug- Ufgsan
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O Oxidation process3iTeRilenRU Ufgha

O More than one of the aboveIURIGd H I Udh 3w

O None of the aboveIWRIGd T J aﬁé :l—Eﬁ

68 Argentite is a mineral of :

3fferge frgesT @l &:

O Au

O More than one of the aboveSURIad & I Udh T 3w

O None of the aboveIWRIGd & I or?l'-:f 7‘|€f

69 Haematite is concentrated by the method :
THcrse 3w fafty g wifta frar s &:

O Froath floatation I &dd

O Gravity separation’e@IHYUI YGHU]

O Magnetic separation YD Y JYFDRT
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Correct: +1

Correct: +1
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O More than one of the aboveIWRIad H I Udh T 3ifeH

O None of the aboveIURIGd T J Ob\lsc 7%)[

Correct: +1

70 Of the following, the metals that cannot be obtained by electrolysis of the aqueous solution of their salt are :
ffafEa & 9, 3 UIge St 91 TS & Oeiid Od & Al gRT UK -Ta] & o abell § -

O Ag

O Mg

O Cu

O More than one of the aboveIWRIad & I Udh T 3fferm

O None of the aboveSWRIGd T J aﬁé :TEPI

Correct: +1

71 The cyanide process is used for the extraction of:

1SS Ufshadr 1 SUaNT fas fAssyur & fore fbar i &:

O Ag

O Au

O Cu

O More than one of the aboveIWRIGd H I Udh T 3w
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O None of the aboveITRIGd & J Ob\lsc :|_6Qf

72 Heating the sulphide ore in air to remove sulphur is known as :

PR D1 geM P AU g1 & TehI3S 3P ) TH &1 & TY A SHT Sl &

O Roasting YA

O Calcinationb =

O Smelting UGIEH

O More than one of the aboveSWRIad & I Udh T 3w

O None of the aboveSTRIGd & J Ob\l‘ig 7‘%}[

73 The process of converting hydrated Alumina into anhydrous Alumina is called :

SRS TR B ot Gt 3 ORaRi 5 9 Wi & T o B

O Roasting YA

O Calcinationb =

O Smelting KIS

O More than one of the aboveSWRIad & I Uh T 3MfH

O None of the aboveITRIGd T J Ob\l'{: 7'|_5°f

TEST - 01 (COMPLETE INORGANIC TEST ) - Multiple Choice Questions - Questions

Correct: +1

Correct: +1
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74 Which metal can be purified by distillation

e UIg BT 3Ma gRT T e o wavat &:

O Hg

O Ag

O Fe

O More than one of the aboveJURIGd H I Udh T 3ferH

O None of the aboveJURIGd & J Ob\li‘; :lg)f

75 Match the following :

List1 List IT
A) Calcination 1. 2Cu,S+30,—2Cu,0+250,
B) Roasting 2. Fe;03.nH,0— Fe,O3+nH,0

C) Slag formation 3. CryO3+2Al—Al,03+2Cr

D) Thermite process 4. Si0,+FeO—FeSi03

Codes :
faffed &1 e a3

ListI List IT
A) HIRFRH 1. 2Cu,S+30,—2Cu,0+2S0,
B) AR 2. Fe,03.nH,0— Fe,03+nH,0
C) T 16 3. Cry03+2Al—Al,04+2Cr

D) yAlsc ufbdm 4. Si0,+FeO—FeSiO;
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Correct: +1

Correct: +1
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DlS:

O A-1,B-2,C-3,D-4

O A-2,B-1,C-4,D-3

O A-4,B-1,C-2,D-3

O More than one of the above3UR[ad H I Uh T 3fferH

O None of the aboveJURIGd & J aﬂs‘ :fglf

Correct: +1

76 Which of the following is not a protonic acid?

Frafifed % 4 o8 w1 Wdfe sra el 32

O PO(OH);

O SO(OH),

O B(OH)3

O More than one of the aboveIWRIdd H I ) T 3fIH

O None of the aboveIWRIGd H J aﬁ's‘ qﬁ

Correct: +1
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77 According to Lewis concept which one of the following is not a base?

TS Y SHTYRIT F IR FafifEa & § & a1 eR T 82

O OH”

O H20

@) AgJr

O More than one of the aboveSURIGd & I Udh T 3ifdrp

O None of the aboveJURIGd H I cb\lé :lﬁ

Correct: +1

78 Which of the following is a hard acid?

fr=fifad & $eR e P &

O Lit

O More than one of the aboveIRIGd & I Th g 3

O None of the aboveIWRIGd H I aﬁé :réT

Correct: +1
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79 Which of the following can act both as Bronsted acid and Bronsted base?
Frafifea # 3 o siws ot iR SRS &R QI & U # ST T T 57

O N8.2CO3

O OH"

O HCO;~

O More than one of the aboveSURIGd H I Udh T 3w

O None of the aboveSWRIGd T J Gb\lsr 7‘|€[

Correct: +1

80 The strongest Bronsted base in the following anions is

i o § 99 Uad sivs &R &

O ClO™

O Clo,~

O Clo;~

O More than one of the aboveIRIGd A I Th g 3

O None of the aboveIWRIGd H I aﬁé :ré)[
Download The Rasayanam APP
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ANSWERS

SECTIONS

1. Multiple Choice Questions - 80 Questions

Section 1 : Multiple Choice Questions - 80 Questions

Itis anionized hydrogen atom

U U ST SIS gIoT IRATY §

2 n=1ton=2

3 n=3l=2m=-2s=+1/2

Nearest to the nucleus

TP & Ja Aoldip

Moseley’s work on X - ray spectra

TRI-Y W TR HIGel BT H1H

Electronic configuration

S =T

7 F <0¥ <S$T <Br

Group 14 or IV A and periodic 4
Fif 14711V A 3R 31ad 4

9 Increases
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Jgare

10

11

12

13

14

15

16

17

18

19

Greater inter-electron repulsion between two electrons in the same p orbital counter balances the increase in effective

nuclear charge on moving from nitrogen to oxygen

T & p Baid § ol SaaeH! P a1 P R-IATH UISYU AZeoH I SHfRiIeH B iR T TR THIS A1 o &

g 1 gferd Pl 8

Beryllium

SRkferaw

Electron affinity

ENCHECER]

Sp

None of the above

IRIgd & T BIs Taf

Different with 1,0 and 2 lone pair of electrons respectively

s, SHRT: 1,0 3R 2 3AdCII | UhTh! IiH &b 1Y

02+ is paramagnetic and bond order greater then O,

0," STISHI § U ¥ HH O, ATSIT

NH3

Electrovalent, covalent and coordinate

faggasiareh, Teareh 3R IU-Hgwierdh
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20

21

22

23

24

25

26

27

28

29

30

31

32

TEST - 01 (COMPLETE INORGANIC TEST ) - Multiple Choice Questions - Answers

HF

RbCl and BeCl,

Potassium carbonate is soluble in water

TR Prafe urt § gersha g

Ammoniated electrons

3IFEES geae
KNO3

NaySnOj5

Li

SiO,

NaOH+H, +Cl,

Zn

Na2Sn02

NalO3 + Nal

Hall and Heroult

Bl 3R e
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None of the above
33
IRIad H Y B3 g

34 NH4Fe(S0y),.12H,0

A thin oxide layer is formed on its surface
35
B! Tdg W TH Tda Sags WRd Il §

36 NazB4O7.1OH20

37 CO(BO2)2

38 BBF3 > BC|3 > BF3

In the presence of cryolite which forms a melt with lower melting temperature
39
HRAEE B JURURY T S HH Terid aren fed S-1dT 3

40 Al<Ga<In<TI

41 C

Graphite has hexagonal layer structure with mobile m—electrons while diamond has continuous tetrahedral covalent
structure with no free electrons

42
IpTge H HITSd m-JadeHl P WY YeHIUIT R YT 81d! § Safd eR H FROR Iquhds 19 Tgarsid - gidl &

43 CO+H,

44 RSIClg

45 Pb(NO3),
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46 Fe

47 K2504.CF2(SO4)3.24H20

Gold solution
48
e faae

49 Cu

Al powder
50
Al TI3 S

51 Cu,Ag Au

52 Ti<V<Cr< Mn:increasing melting points/ EIE?T BGGIE

53 A-ii,B-i,C-iv,D-iii

54 Ti2* v3* cr*t, Mn2*

Fe(III) ions
55
Fe(III) 3T

56 [Cu(NHj),J%*

57 CIS-[PtClz(NHs)z]

58 [Co(NHj),]%*
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None of the above
59
IRIad H Y B3 g

61 3AgCl, 2AgCl, 1AgCl

lonization isomers
62
ST JHITIIT

63 [Co(NH3)3(NO,)5]

Number and position of the primary valences in space

64
3fafe 7 Ui aieie! & T 3R Rufq

65 35

66 d2 2 d?

-y 7

Amalgamation process
67
ST Ulcha

68 Ag

Gravity separation
69

TS@IHYUT GYaHRT

70 Mg

71 More than one of the above
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SWRIad H I T I 3fIH

Roasting

YA

72

Calcination

CIGIENES

73

74 Hg

75 A-2,B-1,C-4,D-3
76 B(OH)j3

77 Ag*

78 Li*

79 HCO;~

80 ClO™
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